H & 0l & AHS B Ml A

(crel &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXL Atel ot 17,633,295 20,710,874 A3,077,579
= 1,450,895
[ 1,992,500
= 3,714,789
Al 10,475,111
HY 2 ZHI(FALREI M) 16,070 15,070 0
J1I=288l 15,070 15,070 0
JI=23Hl 15,070 15,070 0
201 2egh=3| 8,470 8,470 0
01 At2t2ltl 8,470 8,470 0
Ogit=3ZH| 2,470
—JIZ2ARESHI 30,0002 *15& 450
—gRFd TN 20,0002 52 100
-2y =57 60,0002 * 122 720
—A7 2 =48] 50,000 * 122 600
—MEAss 10,0002 x5+ 123 600
o=l 6,000
—J2ge=ASEI 8,000& 7504 6,000
202 04| 1,800 1,800
01 =LHOLI 1,800 1,800
OJ 1228 =304l 1,800,000 1,800
203 HR=H] 3,600 3,600
M EAEgER=A 3,600 3,600
ORAMEEYg =2t 300,000 * 122 3,600
204 AR A 1,200 1,200
01 Mg R3] 1,200 1,200
ound 100,000& * 122 1,200
SEXt=A 8,063,830 13,178,230 A5,114,400
= 1,400,000
== 1,386,300
Al 5,277,530
SNsX 43t 8,063,830 13,178,230 A5,114,400
= 1,400,000
= 1,386,300
Al 5,277,530
Al EEpdt EXSX =8 186,430 38,430 148,000
201 fer=3| 11,430 11,430 0
01 AtR2tc|Hl 11,430 11,430 0
Oget=ZH] 6.830
—SENRA2E EES M
10,0003 +2005 2,000
-SRI EE2ES =2 7
30,0002 *150H 4,500




M SR Xel ot
BH: XS
&elr SR 243t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SNRX A2 S5 &
66,0002 *53] 330
o=l 4,600
—SEN=X gRFL SEHI
8,000& #5754 4,600
202 04l 12,000 14,000 22,000
01 2LHoIH 12,000 14,000 /2,000
OFX=Al J1g &2 0]
10,000,000& » 14 10,000
OB N =+S gRFN
2,000,000 %14 2,000
203 =4l 1,500 1,500
03 A=A 2= 1,500 1,500
OFTtsFXI2e A=
125,000& «12& 1,500
207 ARl 150,000 150,000
01 H1E4H| 150,000 150,000
OOIXtE X &Y MERH 25 HALESH|
150,000,000 *14] 150,000
301 EtE NS 6,500 6,500
11 #AIAHIXIE S 1,500 1,500
OJl& - &Ml - 018 CE0 & X3 el 2te3l
1,500,0002 %12 1,500
14 JIEt2d=3 5,000 5,000 0
OFMRI R84 &=
5,000,000& *14] 5,000
303 Z&a=s 5,000 5,000
01 Za= 5,000 5,000
OFTFX L= 5,000,000& 14 5,000
NYENSTEES 2,156,000 1,800,000 356,000
[ 1,400,000
= 226,800
Al 529,200
402 2IZtA=01d 2,156,000 1,800,000 356,000
[ 1,400,000
= 226,800
Al 529,200
02 QI 2 AL EZ(0IETHR) 2,156,000 1,800,000 356,000
OXNLENSNEES KJ A
2,156,000,000& *14] 2,156,000
[ 1,400,000
= 226,800
Al 529,200
SX0NY ZHIEXES 3,829,400 2,587,900 1,241,500
= 1,159,500




M SR Xel ot
BH: XS
&elr SR 243t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,669,900
307 gl2tol & 449,400 338,400 111,000
=S 145,500
Al 303,900
02 QB AANSEER 449,400 338,400 111,000
OZU SR/ THIEZEZ NRAY(DE
2X3) 449,400,000 x14] 449,400
< 145,500
Al 303,900
402 QIF X201 & 3,380,000 2,249,500 1,130,500
= 1,014,000
Al 2,366,000
02 PIIHZ AN 2 X (01T ) 3,330,000 2,249,500 1,130,500
OZU SXIY THIEES NRAR(LX,
ANEEXZ) 3,380,000,000& *14] 3,380,000
== 1,014,000
Al 2,366,000
S0 0l H2ESEEHSH =3 XA 100,000 150,000 /50,000
307 elztol & 100,000 150,000 /50,000
02 LB HAHE L 100,000 150,000 50,000
OFIIY O HEESESHSH =2 X2
100,000,000 100,000
SI0NY LXNEXS KHA 400,000 246,000 154,000
402 DIZHXH0| A 400,000 246,000 154,000
01 BIIXHZ AN 2 (R T 400,000 246,000 154,000
OEIY LXBES X
400,000,000& 400,000
2% SE2MN SEHE Test-Bed 2= 560,000 3,360,000 A2,800,000
306 EG= 560,000 3,360,000 22,800,000
EEE 560,000 3,360,000 22,800,000
OZY AN =SB Test-Bed 2H (20t
AT AAE) 560,000,000 x 14 560,000
clgtd cISO0IXA X HEE Test-Bed 25 832,000 4,995,900 /4,163,900
402 2IZtA=01d 832,000 4,995,900 /4,163,900
01 QI X2 AL E R (KM TH) 832,000 4,995,900 4,163,900
OzEd 2ISO0IXNMX HEE Test-Bed 75(
EPIESFSINECD) 832,000,000 *14] 832,000
NE=A & oY 8,046,220 6,533,042 1,513,178
= 1,450,895
[ 557,500
= 1,687,389
Al 4,350,436
NEIE JIBAY 5,250,116 4,136,013 1,114,103
= 1,166,295
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M SR Xel ot
33 NE=A # oty
&t DEEE Jlgtxd (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 7,280 7,280 0
o4& 2Xhel 8t Mz % 6,280
—Xel Eor A ME
40,0002 *30F+32] 3,600
— M= XNYRANSH LAt PPTRIZ
2,680,000 *14] 2,680
ogielthy 22 =2 M
250,000 *4H 1,000
202 04t 5,000 5,000
01 =LHOHI 5,000 5,000
OUR2l Bt ¢S £F U AQLYS| EA
(] 5,000,000& 5,000
307 212+01& 2,500,000 2,005,000 495,000
= 70,000
= 1,062,500
Al 1,367,500
02 QB EANEEX 2,500,000 2,005,000 495,000
ORAINE FHOBHHIOI
250,000,000 250,000
= 70,000
Al 180,000
OZ g J=MH20F XEE LAFE
e 900,000,000 900,000
= 450,000
Al 450,000
Odldtd J1g XEE dUcIFESAY
250,000,000& 250,000
[ 125,000
Al 125,000
OZ2Al Aty N=EHoITH 2EAMY
550,000,000 550,000
= 275,000
Al 275,000
OZ Al =4 da MO OF2HHIDI
300,000,000 300,000
[ 150,000
Al 150,000
OLHAHR 22X JI=sAH LI KA
250,000,000 250,000
= 62,500
Al 187,500
ONAHIS D181 HE2Ae| ZEME 123,600 0 123,600
= 53,562
= 21,013
Al 49,025




2A: EXL et
M DR Q ok
&t DEEE Jlgtxd EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 123,600 123,600
= 53,562
T 21,013
Al 49,025
02 IZHEAAMHE R 123,600 123,600
ODNAHS 181012 BEeiXiel ZRME
123,600,000& 123,600
= 53,562
& 21,013
Al 49,025
dg 3 s48 REESI SEAE 15,000 15,000
= 7,500
& 2,250
Al 5,250
307 QIZt01A 15,000 15,000
= 7,500
& 2,250
Al 5,250
02 QIZHAAAIHE X 15,000 15,000
OFY B sS4 REHEI LAY
15,000,000 15,000
= 7,500
& 2,250
Al 5,250
CIOIE AHOIA(D.S) M2It LM AN 270,600 270,600
= 130,000
& 42,180
Al 98,420
307 212+01™ 270,600 270,600
= 130,000
& 42,180
Al 98,420
02 QIZHBAAIEE X 270,600 270,600
OGIOIE AOIIA TSI} ALY
270,600,000& 270,600
= 130,000
& 42,180
Al 98,420
EASE AQEOE ZZNE 548,615 548,615
= 258,000
& 87,185
Al 203,430
307 212+01 A 548,615 548,615
= 258,000




M SR Xel ot
33 NE=A # oty
&t DEEE Jlgtxd (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
< 87,185
Al 203,430
02 2IZHB A E £ 548,615 548,615
OBAZY ADIEDR ZRME
548,615,000& 548,615
= 258,000
< 87,185
Al 203,430
dg FFEY NFAS 210,133 210,133
= 83,533
[ 38,000
Al 88,600
307 glztol & 210,133 210,133
= 83,533
== 38,000
Al 88,600
02 LB HAHEE 210,133 210,133
Oty &Y XA
210,133,000 210,133
= 83,533
s 38,000
Al 88,600
dY 3@y =508 2208 206,432 206,432
= 72,450
=S 40,195
Al 93,787
307 21201 & 206,432 206,432
= 72,450
= 40,195
Al 93,787
02 2B YAIHE A 206,432 206,432
OFy Hume S2Xd T2
206,432,000 206,432
= 72,450
= 40,195
Al 93,787
A S0 srHEE OITHINE At 513,400 513,400
= 250,000
Al 263,400
307 212+01& 513,400 513,400
= 250,000
Al 263,400
02 LB HAHE L 513,400 513,400




M SR Xel ot
M DR Q ok
ol ASEE JEtxY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsIY dEet AITHINE AL
513,400,000& 513,400
= 250,000
Al 263,400
Agd HIXMSA1Y 48XE Eeie FEXNE 403,750 0 403,750
At
= 187,500
Al 216,250
307 elztol & 403,750 0 403,750
= 187,500
Al 216,250
02 2B YA HE L 403,750 0 403,750
Otldd US40 YA FALL
cl EEXZ A 403,750,000& 403,750
= 187,500
Al 216,250
ESGHEV|E HEEFIIY S NIAAS 382,500 0 382,500
= 123,750
Al 258,750
307 212+01& 382,500 0 382,500
= 123,750
Al 258,750
02 2IZHB A E & 382,500 0 382,500
OESGH |8 FHF Y & XA
382,500,000 382,500
= 123,750
Al 258,750
dEE LAeXNZHE 2 33,466 37,657 A4,191
101 21AH| 29,266 28,657 609
04 JIZtN2Z2 XS 2=+ 29,266 28,657 609
OulsE LAeIXJME JIZEN22 X oA
Hl 29,266
—JlZ2= 2,010,580 120 &1 24,127
— %X 76,9603 x5 1 385
—22EE 24,511, 7602 +3.545% 869
—H|RYEE 868,940 %12.27% 107
—=0le= 24,511,760 %4 . 5% 1,104
—1EEE 24,511, 7603 *1.75% 429
—&HEE 24,511, 7602 * 1% 246
—&E&= 1,998,240 x1H 1,999
201 2= 4,200 4,000 200
01 AtR2t2lt] 1,000 1,000 0
OdlsE LXelde 2 1,000




A EXNL R Dt
M DR Q ok
ol ASEE JEtxY EER=E)
SN - ZB - C9(B) - MRAY - BES il &k e HlmS2
—FHIRA 2 A28 22 1o
1,000,000& 1,000
02 3324l 3,200 3,000 200
O&323(=%, ®J|, S )
3,200,000 3,200
2ReIAY 2L F& 802,400 857,799 A55,39
= 212,600
& 131,940
Al 457,860
dEE AsE Y ez KFAS 27,200 16,000 11,200
= 8,160
Al 19,040
307 2I2+01™ 27,200 16,000 11,200
= 8,160
Al 19,040
02 QIRHE&AAIHE B X 27,200 16,000 11,200
Odgd Msyd Y dXhei&ei=2 XEM
A 27,200,000 27,200
& 8,160
Al 19,040
MESE JEE LAeAY 455,200 471,640 A 16,440
= 212,600
& 63,780
Al 178,820
307 QI2Hol M 455,200 471,640 216,440
= 212,600
= 63,780
Al 178,820
02 QIRHH LA B X 455,200 471,640 A 16,440
Odl=d F=8d LXielAte
455,200,000& 455,200
= 212,600
= 63,780
Al 178,820
AEE AISI S AL (HEALY) 120,000 170,159 A50,159
307 QI2Hol M 120,000 170,159 A50,159
02 QIRHHAAIHE X 120,000 170,159 A50,159
OXIEE AISISEIAIS (M ER2EH)
120,000,000 120,000
e S8 LhelArY 200,000 200,000 0
= 60,000
Al 140,000
307 2I2+0l ™ 200,000 200,000 0
= 60,000




A SRt
M DR Y ok
Chelr dXtelAtY B8 =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 140,000
02 QA AAEE X 200,000 200,000 0
Odge S8 LA
200,000,000 200,000
== 60,000
Al 140,000
AHAHE I8 1,067,470 674,336 383,134
= 192,450
Al 865,020
dg Y 258eis N3AM 643,470 266,836 376,634
= 192,450
Al 451,020
201 er23| 830 836 26
01 AtR2t2|HI 830 836 a\3)
Odlg 34 2=58cs AEAE 88 8=
o MIE 830
—E2(0) 250,000 =204 500
—S+A(S) 110,000:2! +30H 330
202 04l 1,140 1,000 140
01 =LHOHI 1,140 1,000 140
Ody 4 25&dcds A3AME F0I1Y
AN=E 1,140,000& 1,140
307 @I2t01 & 641,500 265,000 376,500
< 192,450
Al 449,050
02 2B HAHE L 641,500 265,000 376,500
Odlg 34 2&58cels KA2AE
641,500,000 641,500
= 192,450
Al 449,050
SSTEAY 414,000 407,500 6,500
101 21A4H| 400,000 400,000 0
04 JIZtN2Z2 XS 400,000 400,000 0
OSSZZAIE S0+ 21AH|
400,000,000& 400,000
201 2egh=3| 1,500 1,500
01 At2t2ltl 1,500 1,500
Oogxiel 2R S| 1,500,000& 1,500
202 04l 2,500 2,500
01 =LHA LI 2,500 2,500
OSE2ZAEY A=8E
2,500,000& 2,500
206 M=H| 10,000 5,000 5,000
01 M=8l 10,000 5,000 5,000




M SR Xel ot
M DR Q ok
Rl FHRAHES 1EeHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2222AY I & 2
10,000,000 10,000
(CGIHNAIZI B MDY THE XA 846,402 510,848 335,554
= 72,000
s 487,500
== 69,676
Al 217,226
(MIHDARIEDIY X2l E KA 640,532 286,271 354,261
= 480,000
S 32,006
Al 128,526
307 @I2t0| & 640,532 286,271 354,261
[ 480,000
= 32,006
Al 128,526
02 2B YAIHE £ 640,532 286,271 354,261
O(CIENAIZI =Y LRIeIFEAG (LR
=) 493,333,000 493,333
[ 370,000
= 24,666
Al 98,667
O(CIENAIZI =Y LRIHEAG (B2
=) 147,199,000 147,199
[ 110,000
= 7,340
Al 29,859
MBI EZ RIS AFZIHEHl XIZALS 102,870 74,577 28,293
= 72,000
= 9,270
Al 21,600
307 el2to| & 102,870 74,577 28,293
= 72,000
= 9,270
Al 21,600
02 2B YA E X 102,870 74,577 28,293
OASIEZ NI A IHEH] XI&ALS
102,870,000& 102,870
= 72,000
S 9,270
Al 21,600
ARIEDIY Alel2E2 XI3A 10,000 10,000 0
= 7,500
= 500
Al 2,000




2N =

E M

Sl (CIHNAFSIEZRDIY A X2 AY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 10,000 10,000 0
= 7,500
== 500
Al 2,000
02 LB HANHEE 10,000 10,000 0
OABIEDI ABIEEE XA
10,000,000& 10,000
= 7,500
== 500
Al 2,000
MBI HZHIIY ALEH XA 93,000 120,000 27,000
= 27,900
Al 65,100
402 QI2F X201 & 93,000 120,000 227,000
= 27,900
Al 65,100
02 QI X2 AL E R (01X THE) 93,000 120,000 A27,000
OARIHZ MDY AI2E8] XA
93,000,000 93,000
== 27,900
Al 65,100
AR 243t 89,832 103,046 13,214
ARIED Y |4 24,000 3,500 20,500
201 er23 | 1,500 1,500 0
01 At2t2ltl 1,500 1,500 0
Odit==H| 500
—ARRIEDIY OISER NEM M
500,000 500
O=gH| 1,000
—AlRIHIIY =4 € =2 S|
1,000,000 1,000
202 04l 2,500 2,000 500
01 =LHAHI 2,500 2,000 500
OAIH)IY 54 R 0]
2,100,000& 2,100
OARIEIIY |4 L2FT HHI(S2A)
400,000 400
307 glztol & 20,000 20,000
12 22 W =FH| 20,000 20,000
OARIEZ R OF3tHIl
20,000,000& 20,000
ARIFZRDIE UERD 5 5,810 5,610 200
201 er2 3| 2,310 2,310
01 AtR2t2|HI 1,400 1,400




M SR Xel ot
M DREF Y ok
Sl ARIREN 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIHZ MDY A& BIXI0R— Xt &
N, 700,000 12 700
OO0t A28 M us & 2tds &2
= 78 700,000 700
03 A2 I 910 910 0
OAIEZ MDY A& BIXI 0 310
-8 MAEH(B) 110,000& *1H 110
—8A A S Y 200,000 12 200
OARIZB MDY 2HAHX 22l & /A3E 600
—g==% N S 8E=3 A
100,000 *22] 200
—SA A 2 Y 200,000 200
—&A Zx 100,000 *23] 200
202 048l 1,200 1,000 200
01 2L AL 1,200 1,000 200
OAIZZMIIE HERD 715 g4
(Ghs] 1,200,000& 1,200
301 2eEN= 2,300 2,300
11 dALREIXIE S 2,300 2,300
OARIHZ MDY &K X0
1,000,000& 1,000
OAMSIRZMIIG AN 2tdel & f3s
300,000 *23] 600
OOt AM2IEEM us & 2t53]
700,000& 700
MBI EZH X2HEH 29 58,222 92,436 A34,214
101 @124H| 50,262 84,476 A34,214
M ORIMZZ2NSE S 50,262 84,476 N34,214
OHlRd 212t| 48,822
—Jl2= 2,611,000& 11204 & 31,332
—A=2x| 175,000 1204 2,100
—ZHZAH 140,000 * 1204 & 1,680
— ¢ x==g 112,000 »1&+5 560
—d03 2,611,000& x200% 5,222
—dLEE 40,894,000& *3.545% 1,450
—IRLEE 1,449,690 %12.27% 178
—=0le= 40,894,000 4. 5% 1,841
—NEES 40,894,000& *1.75% 716
— & HEE 40,894,000 * 1% 409
—&E&= 3,333,750 1 3,34
OZ&0it| 20,0002 x62]* 1204 & 1,440
201 er23 | 7,960 7,960
01 At22t2lt] 6,520 6,520




A SRt
M DREF Y ok
Sl ARIREN 245t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIZ2ARES el
30,0003 x2&+ 1201 & 720
O=AEA 7Y 700,000 700
OAlIHBMIIY S22 MH
2,000,000 2,000
OSAPDI U= 180,000& 12042 1,800
OF4I| Ytz 30,0002 124 2 360
Oz ST
20,0003 12+ 1291 2 240
OAR4 S B EHIE otz 7Y
400,000 400
OAR2d =384l 300,000 300
2 BTS2 1,440 1,440 0
OHIEH 3323 (&J],+5,84 )
120,000&* 12042 1,440
SSXE 2dst AT 1,800 1,500 300
201 et 3| 500 500
01 At22t2l] 500 500
Ogsxg 2d E2=2 MA
500,000 500
202 04l 1,300 1,000 300
01 =LHAHI 1,300 1,000 300
OESAE AMHed NS
1,300,000 1,300
ANESSH g43 =4 1,508,175 984,532 523,643
s 35,000
s 641,100
Al 832,075
ANEssH g4zt 1,508,175 984,532 523,643
[ 35,000
= 641,100
Al 832,075
OlessHEdst 365,344 249,344 116,000
s 103,800
Al 261,544
201 et 3| 12,304 12,304
01 At2t2l] 12,304 12,304
O0ISZSH S2ALS AR HIZ
2,000,000 2,000
O0I23SH At JH0I1E=S JXt M
5,000,000& 5,000
Oll2ssH s22(2+Atll S) MH
3,000,000& 3,000
Olt=SSSH 228 =&l
2,304,000 2,304




SN EXUTRID
33 N9ssH gdst =N
=R NGsSH 243t EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 5,040 5,040
01 2LHoIH 5,040 5,040
Olt=ssH g4 0y
20,0003« 7L +2&* 12 3,360
Oll23SH d2R2FN oHI(S2A)
20,0002 +7L*1&* 12 1,680
301 22N = 18,000 2,000 16,000
< 4,800
Al 13,200
11 dALEEIXIE S 2,000 2,000 0
OUt=SSH P==Atell #IXI0H
2,000,000& 2,000
14 IIEt2 8= 16,000 0 16,000
Oll==SH S2AIE 248 XA
800,000 x2Z* 1004 16,000
== 4,800
Al 11,200
307 glztol & 330,000 230,000 100,000
= 99,000
Al 231,000
02 2B YA E X 330,000 230,000 100,000
Olt=sSH 2SXAAE
260,000,000 260,000
= 78,000
Al 182,000
O==s3H 2SN
70,000,000 70,000
< 21,000
Al 49,000
OiSssH NddH 29 159,831 175,028 15,197
101 @124H| 111,671 114,568 A2,897
MU IIRIMZZENSES 111,671 114,568 N2,897
OHlIed 2124| 48,822
—Jl2=s 2,611,000« 1E 12042 31,332
— S 2 X 175,000& 12042 2,100
— NG 140,000 12042 1,680
—Axtg 112,0002 x 1 x5 560
—a0= 2,611,000 «200% 5,222
—&E&= 3,333, 750& 3,334
—IES 40,894,000 +3.545% 1,450
—ILEE 1,449,690 %12.27% 178
—=glo= 40,894,000& 4. 5% 1,841
—1=2E 40,894,000& *1.75% 716
—AHES 40,894,000 * 1% 409




SN EXUTRID
33 N9ssH gdst =N
=R NGsSH 243t EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OASAE 22| 58,529
—JlZ2= 2,010,580 2+ 1200 & 48,254
—gxt=E 76,9603 x2H+52 770
—EA= 1,998,240 x2H 3,997
—22ZES 49,023,520 +3.545% 1,738
—IRLEE 1,737 ,880&%12.27% 214
—=gld= 49,023,520& *4. 5% 2,207
—1I=E2E 49,023,520 *1.75% 858
— & HEE 49,023,520 * 1% 491
OE&0it| 20,0003 x3H+63|* 123 4,320
201 er23 | 26,040 33,540 AT7,500
01 AtR2te|Hl 8,420 8,420 0
O2g8 NRES 2,660
—JIZARESH 30,0002 x4 x 12 1,440
—=AEX 500, 0002 500
—UeEA CHTUY
60,0002~ 12 720
Od &I FXI2el 3,000,000& 3,000
O&=)| gz 30,0002~ 122 360
Oll=SSH 822 MA(2I2, ML S)
2,000,000& 2,000
OAtR4d 2B dHIE 3tz +Y
400,000& 400
02 S3=gHl 1,620 1,620 0
Os&=3l 1,620
—SMe3(HU, M5
60,0002 «12& 720
—E2UN 2 a2
3,000&+300S 900
03 A= SHI 16,000 23,500 AT7,500
Olt==sSH AIEEE3
1,000,0002 %12 1,000
Olt=SSH ol=2g St0tg At
15,000,000 15,000
301 LEtE NS 2,120 4,920 22,800
11 dALEEIXIE S 2,120 4,920 22,800
Ont=3sH 243t H3A&(32 S) &4
a4l 0002 x3& 82| 720
Oll==SH 028 stite AL 4T &
] =y 14,0002 100 1,400
307 212+01& 20,000 22,000 A2,000
12 QIZHQIR & = H| 20,000 22,000 22,000
OorsgsIt 24 HAZIEOIE WS
20,000,000 20,000
SSHE =18 =4 112,000 91,000 21,000




SN EXUTRID
33 N9ssH gdst =N
el XNGESSH 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 35,000
=S 22,500
Al 54,500
201 fer=3| 1,000 1,000
01 AtR2tc|Hl 1,000 1,000
O0I2IIY 28 0101 M
1,000,000 1,000
301 EtE NS 1,000 1,000
11 dAMEEIXIZE S 1,000 1,000
Obt=)1eY ¢&3 F4A &l
1,000,000 1,000
402 2IZtA=01d 110,000 90,000 20,000
[ 35,000
= 22,500
Al 52,500
02 QI A2 AL E R (0IETHR) 110,000 90,000 20,000
OdHEH Ot=)1Y 70,000,000& 70,000
= 35,000
& 10,500
Al 24,500
Odge oiblit=)1g 40,000,000 40,000
= 12,000
Al 28,000
KNEZSSH LRl AF(HESALY) 858,000 370,160 487,840
== 514,800
Al 343,200
101 e124d| 833,000 345,160 487,840
< 499,800
Al 333,200
M ORIMZZ2NSE S 833,000 345,160 487,840
ONABSHLR2IAR EOIXH Q12|
833,000,000& 833,000
= 499,800
Al 333,200
201 fet=3| 2,000 2,000 0
== 1,200
Al 800
01 Al 22IH| 2,000 2,000 0
ONABEHMLTZIAY E7 AL222lH|
2,000,000& 2,000
= 1,200
Al 800
202 04t 3,000 3,000 0
= 1,800




SN EXUTRID
33 N9ssH gdst =N
el XNGESSH 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,200
01 2L AL 3,000 3,000 0
ONABEHLX2 AIYE NEEY
3,000,000& 3,000
== 1,800
Al 1,200
206 M=l 20,000 20,000 0
= 12,000
Al 8,000
01 MZH| 20,000 20,000 0
OXSZSSHMLReIAMY =& THZHI
20,000,000 20,000
S 12,000
Al 8,000
O3y SEAME 13,000 99,000 /86,000
201 =3 4,000 4,000 0
2 S52g4l 4,000 4,000 0
(O] === N F~EON ] 1,000,000 1,000
Olt=3g RUBHIAIAY SHH|
100,000& * 12 1,200
Oll=sY s52= 150,000& 122 1,800
401 AIEHIZL SR 0HYI 9,000 95,000 86,000
01 AlZ8| 9,000 90,000 81,000
Otr=3e AlEIHAHI 9,000,000& 9,000




